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QUESTION 29
Which two statements describe Cisco Security Intelligence Operations? (Choose two.)
A. Cisco Security Intelligence Operationsis a service that isincluded with initial product purchases and SMARTnet support
contracts.
B. Cisco Security Intelligence Operationsis afree service.
C. Cisco Security Intelligence Operations collects real-time security information from sensors that are deployed across the globe.
D. Security datais collected, collated, and processed at sensors, and identified threats are reported to Cisco security operations
centers.

Answer: AC

QUESTION 30

What istherole of Cisco AnyConnect in a borderless network?

A. Cisco AnyConnect is the network component that provides access control to switch ports.

B. Cisco AnyConnect enables secure, reliable, and seamless connectivity of authorized devices within the borderless network.
C. Cisco AnyConnect enables malicious content to be filtered from HTTP traffic.

D. Cisco AnyConnect isahost intrusion prevention application that includes a personal firewall.

Answer: B

QUESTION 31

Which two statements apply to a collaboration architecture that is integrated with Cisco SecureX? (Choose two.)

A. Security services are available at the network level.

B. Security services are available for collaboration appliances only.

C. Security services are available for collaboration services.

D. Security servicesare not available for client services.

E. Cisco AnyConnect does not support secure connectivity to enable access to collaborative applications from maobile devices.
Answer: AC

QUESTION 32

What are two core components of a highly secure Cisco BY OD solution? (Choose two.)
A. mobile code

B. diverse accessinfrastructure

C. contextual policy

D. complex management

E. efficient and seamless security

Answer: CE
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